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1. Explain the meaning of the term 'modernization' and provide a detailed discussion of 

the three patterns by which modernization occurred in Africa. 

2.. Discuss four features that characterize an industrial revolution as put forward by Deane 

(1980) 

3. Demonstrate your understanding of the consequences of the industrial revolution by 

discussing four of the outcomes for society. 

4. How does Rostow (1964) explain the process through which Third World countries can 

industrialize? 

5. Discuss the notion of the 'fragile state' and explain, with appropriate examples, its 

implications for development in Africa. 

6. Provide an explanation for the problem of de-industrialization and, making reference to 

Cole's (2009) assessment of the problem of rural de-industrialization in the United 

States, highlight at least three consequences of de-industrialization. 


